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Question Id : 5494703377 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (1 to 20)



Data Sufficiency Sgpod DoRd

Note: In questions numbered 1 to 20, a question is followed by data in the form of two statements
labelled as I and II. You have fo decide whether the data given in the statement is sufficient to
answer the questions. Using the data make an appropriate choice from (1) to (4) as per the
following guidelines:

a) Mark choice (1) if the statement I alone is sufficient to answer the question.

b) Mark choice (2) if the statement IT alone is sufficient to answer the question.

¢) Mark choice (3) if the statements I and II together are sufficient fo answer the question

but neither statement alone is sufficient.
d) Mark choice (4) if Doth the statements I and IT together are not sufficient to answer the

question and additional data is required.
ardd 1 dod 20 $69 @dyd PO @éﬁm w5 93y, T5ed |, 1l 0 e o Bot pddaren
oo Q) EPAD. AN dFoto EHAF0D, AD PIVTW YYD VAPTT) Ady0dD
?'.)U“Sé"m e aiT Gor e9.) 2ol Qg‘ﬁoa“t’}. & Dg’ticafo 300 Srgaoys drgre gndiriod) (1) dod
(4) 56 26 oD BT & Joos Jabod.
a) Py D dArErd -aél)omﬁ‘o Dadddo | Arda KJU"&QQL}@ 2 2o (1) e hfoded.
b) #) % dergrido adyeths) Pacide Il Srdd DURMS B 2w (2)  hodod.
€) PD darerdo adyedd i |, I 490 ooy w0ty o w88 S AR
43 2 st (3) ™ Mioded.
d) 93y» ddrgrdo adyods pddaren |, 1l 400 dree D00 58 B0dY) dFrodo wddo
ea0d 20 27t (4) m hfodiod.

Sub questions

Question Number : 1 Question Id : 5494703378 Display Question Number : Yes Is Question
Mandatory : No



What is the value of x” +1°?
O+ 1 ? Densd does ?
5 x+y=13

IL. F gt =97

Options :

’I.%l

Question Number : 2 Question Id : 5494703379 Display Question Number : Yes Is Question
Mandatory : No

What is the v-intercept of the straight line?

e3 20 B GI0S), X- 06 oGS Joed?

I The line is passing through the point (7 . —8)
es mow O (7 . —8) Dosan ANy Ferod

1L The line is passing through the point (-3 . —4)
&5 20 B (-3 . —4) Doy To° Fedood

Options:

’I.ﬁl

| B8]



Question Number : 3 Question Id : 5494703380 Display Question Number : Yes Is Question

Mandatory : No

Ta—3b

If @ . b are nonzero real numbers. what 1s the value of ?
4a+5b
L . Ta—3b .
a, beo %-J'-"f‘;‘a?ge:%d TR o] e00s : { GRS, Deod oEd 7
i 4+ 5b

L a+b=14
1L a:b=6:1

Options :

.
1. %

| ]

Question Number : 4 Question Id : 5494703381 Display Question Number : Yes Is Question

Mandatory : No



Ifa, b, ¢, dare consecutive terms of an arithmetic progression. then what is the
value of (b +d)— (a + ¢)

a,b,c,des s s 3 5% S Hrrew eond (b + d) - (g + ¢) Dewd doed ?

¥: a+b+c+d==584
1L The common difference of the AP is 12
ea08 3E roeoies Scio 12

Options :

1.8 1

[ ]

4. %

Question Number : 5 Question Id : 5494703382 Display Question Number : Yes Is Question
Mandatory : No

What is the area of the rectangle ?

o 2
&g DACRY) DTV Do

L Perimeter of the rectangle is 34 cm
ot fuls] =, &
8¢ DB06HD wogn Fud 34 o b .

II. The length of the diagonal is 13 cm
Sga00 Tea) 13 2o .20 .

Options :

’I.*l

| ]



Question Number : 6 Question Id : 5494703383 Display Question Number : Yes Is Question
Mandatory : No

What is the original cost price of the article?

£8 DidJad) LI D Jdodd T

L The marked price of the article is Rs.1850
&3 D) DL Do . 1850

II. By selling the article the dealer gets 9% loss

SDYSIED €5 DY) A VDT FX D00 DTN,

Options :

. b
1. %

| ]

Question Number : 7 Question Id : 5494703384 Display Question Number : Yes Is Question
Mandatory : No



How many students failed in both Botany and Zoology ?

Doe 2006 DETHHRD HE TH D, oA TR &0 Jodoth S°AF BbyTH ?

L 23 students passed in both Botany and Zoology
23 2008 DHEFYEHEn E TR, BB TRV ToloSS AP &dG VOITIH
" The number of students passed in Botany exceed the number of students
' passed in Zoology by 13

2oey TRV’ edthwons 0% 13 2od JdH HE TR &AD

=163

0T 156}

Options :

1
1. %

b2

4.+

Question Number : 8 Question Id : 5494703385 Display Question Number : Yes Is Question
Mandatory : No

How many sides are there in the regular polvgon?
220 oz 55D Zoeaen J}b‘l i

1 The sum of the internal angles of the polvgon is 67 radians
23 gP0zEE 5°D wond Erpsuve Juwdo 61 Sdobay

I1. Length of each side of the polygon is 20 cm
e paozing 5D 2,878 Zozan SPey 20 e Dy |
Options:

1.4 :



Question Number : 9 Question Id : 5494703386 Display Question Number : Yes Is Question
Mandatory : No

Are the roots of the equation 4ax” + 5hx + 6¢ =0 real?

il
fadogdnan dax” +5bx+ 60 =0 ding), Auredue TR0 Doage ?

3 b re=3:34
II. g+ ¥ =97
Options:
1.9 1
)
2. % -
3. ® 3
4% 4

Question Number : 10 Question Id : 5494703387 Display Question Number : Yes Is Question
Mandatory : No



Is the positive integer n. odd?

D apgrosao N 320 Q03 7

[ 71 is the sequence of a composite number
2.5 Po0iws Haoajé =0, ;i:zl;g;ln

1L n is the square root of a composite number

28 Wo0BLE o] S0 DGCLIPDN

Options :

1.*1

b

4.

Question Number : 11 Question Id : 5494703388 Display Question Number : Yes Is Question
Mandatory : No

‘Z’ 15 in which direction with respect to "X’ ?
] 3 g © £ % )
X G‘;}%‘:S FAMEAL SEERAY
“Y 1s to the south of *X° . ‘2’ 1s to the east of ‘P’ and ‘P’ is to the north of
<Y'
XY ddaorar, P 7 w%ej‘ﬁm, Y 2 P eadorir &) 00
II. ‘P’ 1 to the south of ‘X’
X' P g2eore eod

Options :



| G

Question Number : 12 Question Id : 5494703389 Display Question Number : Yes Is Question

Mandatory : No

Is AABC equilateral 7

AABC Haverio @zde s’

I. AB=AC

IL ZBAC =60°

Options:

1

| ]

Question Number : 13 Question Id : 5494703390 Display Question Number : Yes Is Question

Mandatory : No



Isb>a?

b= aq eosnaom ?

- E

L x+3isa factor of 1% —-27°

A% —27%drx + 3 e sedmrogan

IL. x — 2 is a factor of x° —4a®

1P —4a® € x — 2 sooerodan

Options:

1.331

Question Number : 14 Question Id : 5494703391 Display Question Number : Yes Is Question

Mandatory : No

If 'x” and "y’ are integers, then is ‘2” an even integer?

XY e rgrosten oS |, 7 28 argrosar ?

L z=(x+y)y
II. r=2% 8y
Options :
1. % :

| )

2. ¥



Question Number : 15 Question Id : 5494703392 Display Question Number : Yes Is Question
Mandatory : No

What 1s the volume of the sphere?

03 ) 203 HBATEAL Jod ?

I. The surface area of the sphere is equal to the area of the circle with radius 5
units
vy eddde projdw, T{PEAN 5 CRrDAIT (o 98 DTOHNIL
AT,

1L The radius of the sphere is equal to half of the length of a diagonal of an
inscribed cube

&3 o Jrgrgaw, ore’ wons DD A0 cIng), Sgawe fiiaw

Options :

1.+ !

Question Number : 16 Question Id : 5494703393 Display Question Number : Yes Is Question
Mandatory : No



Is the perimeter of the rectangle more than 65 cms?

&3 sy otw oo 65 o, . ol ey oe ?
L Its length is less than 16 cm
D T 16 Do. . Sotd BLyD

1. Its breadth is greater than 10 cm

oD ey 10 Ho. 5a. 208 ALV

Options :
1o 1

5
2. % ©
3. % ’
4% °

Question Number : 17 Question Id : 5494703394 Display Question Number : Yes Is Question
Mandatory : No

Is 10. afactorofn +5 72

1+ 5 €10 a8 srderotar ?
L ‘n” is odd and divisible by 9

‘il 835 R2083§ snBodn 9 4 prfodeacdiod
II ‘n’ is even and divisible by 5

Figsls ‘&ma.‘:lél anBoin 5 & erfonecenod

Options :

1.% 1



Question Number : 18 Question Id : 5494703395 Display Question Number : Yes Is Question
Mandatory : No

What is the angle of the sector at the centre of a circle 7

8 o 25D Zogo 55%" eg hg}d& 55 Emo Jood 7

L The perimeter of the sector is 16 units

eg hgm cﬁmggj {:u%:» Eees 16 CiarDen

i Arc length of that sector is 10 units

&8 g g rnaw Fe 10 arden

Options :
1. % !

Ry
2. % 7
3. 3
4% 4

Question Number : 19 Question Id : 5494703396 Display Question Number : Yes Is Question



Mandatory : No

19. What is the area of the right angled triangle in the XY-plane for which (2 .3) and
(-4 . 0) are two vertices

XY Haoseo e (2,3), (-4 ,0)en ?gm)mﬁ‘* o vot) £ Habaey) 270 Jodd ?

L The triangle crosses the Y-axis at exactly two points

& Bzbaan Y- E.‘:E":JJ 70T Dot Dol e oLt

I The y—coordinates of two of the three vertices of the triangle are zeros

& Szbadn QP Jpues’ Bood ¥ - Adrdmen RO e

Options :

’I.%1

| ]

4.¢

Question Number : 20 Question Id : 5494703397 Display Question Number : Yes Is Question
Mandatory : No

A set ‘S’ consists of 6 integers, What is the median of these integers of °S™?
2wt PR 550 6 QrgrosTen %a‘g‘lm. S5 & QArgresTe ﬂuéb lniglaly Joed 7

L The range of the set of integers is ‘S is 40

S 5" & oSty HING dng), o 40

IL. Arithmetic mean of the six infegers in ‘S” 1s 15,

S &2 et PrTosw LS g, wod dueio 15

Options :



i
) % 2

3
3. %
4. v 4

Question Id : 5494703398 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (21 to 30)
Problem solving 003 Fesid
Sequences and Series CINERLIVE ATV

Note :

In each of the following questions. a sequence of numbers or letters that follow a definite pattern
15 given. Each question has a blank space. This has to be filled by the correct answer from the four
given options to complete the sequence without breaking the pattern.

AP

306 @)D 2O P3) TIP ADD Dopjen T BETW 5 &8 FHOGDS Jabardy TS o

28 93) 62 10 adyd Teo o 5o Ao A0 BN BT YD BN Jahards

otle Seniore yhore.

Sub questions

Question Number : 21 Question Id : 5494703399 Display Question Number : Yes Is Question
Mandatory : No

1232 18 ;2456 -



Options :
1 = 120

Question Number : 22 Question Id

Mandatory : No
AFI (45 10U :

Options :

| % 938

Question Number : 23 Question Id

Mandatory : No

B3 2R
Options :
61

1. #

: 5494703400 Display Question Number : Yes Is Question

: 5494703401 Display Question Number : Yes Is Question



91

121

141

Question Number : 24 Question Id : 5494703402 Display Question Number : Yes Is Question
Mandatory : No

72 Skl 31 B : 168

Options :
1 ¢ 48

49

3 % 58

ix 59

Question Number : 25 Question Id : 5494703403 Display Question Number : Yes Is Question
Mandatory : No

COW :DOZ - RAT ;
Options :

| % SBU

, % SCU



SCW

4 % SBW

Question Number : 26 Question Id : 5494703404 Display Question Number : Yes Is Question
Mandatory : No

| el 530

Options :
17

19

Question Number : 27 Question Id : 5494703405 Display Question Number : Yes Is Question
Mandatory : No

67 :13.:79:

Options:

1 % 26

2.v 16



Question Number : 28 Question Id : 5494703406 Display Question Number : Yes Is Question
Mandatory : No

Q1343 ¢ r 216

Options :

Question Number : 29 Question Id : 5494703407 Display Question Number : Yes Is Question
Mandatory : No

Options :
48

1. %



41

Question Number : 30 Question Id : 5494703408 Display Question Number : Yes Is Question
Mandatory : No

&l :3 2625

Options :

Question Number : 31 Question Id : 5494703409 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series e9R0E AT, Fraven

Pick the odd thing out in the following.

S0 yD 783 DOT'0AA hfodod.

Options:

CLOUD

VAPOUR



RAIN

MIST

Question Number : 32 Question Id : 5494703410 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series e garren, Faven

Pick the odd thing out in the following.

S06 @IS 73" HOT0IAB ool

Options :
s
1. %
2. % o
sin—
6
3.¢
T
COs—
4. %

Question Number : 33 Question Id : 5494703411 Display Question Number : Yes Is Question
Mandatory : No



Sequences and Series ev0gaTren, Fraden

Pick the odd thing out in the following.

Sod myd e HOT'0AG fodiod.

Options :

JULY
1. %

AUGUST

SEFTEMBER
3.¢

OCTOBER
4. %

Question Number : 34 Question Id : 5494703412 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series e garen, Frwen

Pick the odd thing out in the following.

S00 @D T3S 0T 0B (hociod.

Options :

Lw B



73

Question Number : 35 Question Id : 5494703413 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series A0S ATTD, Fraven

Pick the odd thing out in the following.

S00 @y J7e3° HOT'0IG bPodiod.

Options :

3138
1.9

14106

Question Number : 36 Question Id : 5494703414 Display Question Number : Yes Is Question
Mandatory : No



Sequences and Series edgaren, Frnen

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

ArSd: ol @YD F) 28 PID Jabdrdy FOed. & Jahardy Hdded
200D DArFDrSedS a9 HPdodod.

x U5 P.N K,

Options :

1. %

Question Number : 37 Question Id : 5494703415 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series e9rdngdoren, Feven

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

APSH: S0l @OND PB) 25 PYSD oDy F 3000, & QoHardy ddddod
ABEHH DAFEHod ) HPGociod.

720,  .120.30.6.1
Options :

180
1. %



240

0. #
3 360
4 % 300

Question Number : 38 Question Id : 5494703416 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series @AgAre, e

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

Arcsd: S0 @y 2F) 28 PINIWD Jobardy FEpes. & Jabardy dHdod
2A0ahb DArorded ardd) HFdodod.
818,38, 78, 158,

Options :

1 % 218

, o 318

Lad
Lh
20

258

Question Number : 39 Question Id : 5494703417 Display Question Number : Yes Is Question



Mandatory : No

Sequences and Series kDA, Froen

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

QAP Sodh NG PB) w8 DYDY Jabdrdy F8:000. © QohAry ddvdod)
2B DATTEHS a9 HPbocod.
0,3,8.15,24,35, .63

Options :

1.&)48

Question Number : 40 Question Id : 5494703418 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series eod0garen, Jroen

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

Ao Sod AN PF) w8 PAYBVH Jabdrdy Ti000. e Qabdrdy o)
200 Dargrded a0 rbodod.

1.5,4.,75,12,175,

Options :



¥

4.

Question Number : 41 Question Id : 5494703419 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series 90 gATe0, Frven

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

Ardd: S0 @D 9F) 28 PAYID Jabard) FBied. & Jaardy fddod
HBabi AArgrded ardd) Hydeded.
4,18,87.431,

Options :

| w 2250

2550

2150



Question Number : 42 Question Id : 5494703420 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series R0 garen, Froen

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

PG 300 WD PI) 28 PIYSD JabArdy Jeinod. e QobHrdy o)
Aoab DArgEded e DFfodod.
2.6,20.42.110,

Options :
« 160

Question Number : 43 Question Id : 5494703421 Display Question Number : Yes Is Question
Mandatory : No



Sequences and Series oo garen, Frnen

Note: The following question follows a definite pattern. Observe the same and fill

in the blank with suitable answer.

ArSD: o6 @YD DF) 28 PNED Jahdrd) FEWes. e Dabardy ddded

60bhih dargraed 2790 HPboded.

5 1 11135
5 37 BEE—
Options :
11
)
1.
]__
3
2. %
5l
3. % O
1_
4. ®

Question Number : 44 Question Id

Mandatory : No

: 5494703422 Display Question Number : Yes Is Question



Sequences and Series ek gdoren, e

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

APSH: S06 NG DI w8 PIYSWD Jabdrdy Fe000. e Qabdrady ddnded)
PO0LD DArgrHod 700 HPdodod.
% 7429928 .39

Options :

49

Question Number : 45 Question Id : 5494703423 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series e90ga0en, Feen

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer,

Ardd: S0 @D OF) 28 PAYED abdrdy FBed. & JaDArdy dddoc)

A0 PATOrHS a0 Hpbodiod.

¥.0.4.7,3.8,

Options :

1. %



| §]

2. %
3. % 3
45 4

Question Id : 5494703424 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (46 to 48)



Data analysis 5o D3an

Note:
The following chart indicates Milk powder tins produced and their costs from year 2011 to 2015.

Based on this information given in the chart, answer questions 46 to 48.

PP

fosyoen 2011-2015 08 dairson Sro TE deryp doaxy, 8 IV & Fod HBLE" Lrdoardd,

& ‘bﬁ&éeﬁ"ﬁ AT SEorr SefD 21)00 46-48 0 aare0dagod.

BIMilk powder tins (in Lakhs)  OCost in crores of rupees

500 o T2 cery w (od o) o8y driroped’ 473
450
400 357
350
300
250
200
150
100

50

202 23 24 205

Sub questions

Question Number : 46 Question Id : 5494703425 Display Question Number : Yes Is Question
Mandatory : No

The year in which the cost of a milk powder tin is least is

2t Jpey SPA ceTy DO DN &) DoDDYGo
Options :

| % 2014

2013



2012

2011

Question Number : 47 Question Id : 5494703426 Display Question Number : Yes Is Question
Mandatory : No

The difference in the cost (in rupees) per tin in the years 2012 and 2015 is

2012 08050 2015 R:ro.;}ejbmmf 28 &) FelFa ey aog), pbcuees® drr

Options :
1.% 30

> 35

300

4 % 3350

Question Number : 48 Question Id : 5494703427 Display Question Number : Yes Is Question
Mandatory : No

The percentage increase in the cost per tin from 2011 to 2015 (corrected to two
decimal places is)
2011 & z?f%a 2015 & 2 cery abd dng ad T (Dot GToHNLD
FaBotr)
Options :
20.37

1. ®

21.42



3 @ 2286

[
faa
-2
g |

Question Id : 5494703428 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (49 to 53)

Note for questions 49 to 53:

The following two Pie-charts represent the budget allocation under various heads by two states.
Based on the information given answer guestion 49 to 53

49 ol 53 w0 Ao Wiy I WPl

Gott) TP eld e & Wi 2k SErowespuds € §ob Doty -y RPINT 00 . &
&

NPTy, SErdel® Wid™d 40 ok 53 HON du éé;véo BaT e el ok

Tourism
1 U“Smsm

Industry
Hbgaen

Industry
wigauen

Others
BE0OLLD

Stata—| State—1l
U"%}jo —| U“;_;jo =1

Sub questions



Question Number : 49 Question Id : 5494703429 Display Question Number : Yes Is Question
Mandatory : No

The budget given to Agriculture by state II is what percent of the budget allocated

to tourism by the same state (corrected to two decimal places)?

orge I HoojeoseDé Seronods et e o°0 :né;:wé'-'o:iﬁbé Bbroons oD Toého
(Bot camore HOLH 2H83)

Options :

T:51

140

Question Number : 50 Question Id : 5494703430 Display Question Number : Yes Is Question
Mandatory : No

The budget allocated to the industry by state L is what percent of the total budget of

that state (corrected to two decimal places) ?

o0 I 2oogo ©ene” H83000 333 Strondy Fdo (Bow ST0Tw 6L D)

Options :

34.72



4 % 36.18

Question Number : 51 Question Id : 5494703431 Display Question Number : Yes Is Question
Mandatory : No

The ratio of the budget allocations for the health to that of industry by state I is.

o0 I 8° esBrifannadcd 2nboin HEze B 0gé Serance ) Ad

Options :
25116

Question Number : 52 Question Id : 5494703432 Display Question Number : Yes Is Question
Mandatory : No

If the total budget of state IT is Rs. 22.000 crores. then the amount in crores of rupees

allocated to Industry. i3
oo 1T clwg), doogte & 22,000 By dradroneond, HBzaves) 8eronodd Tany
Eo drarones’

Options :

1800

3600



3800

4400

Question Number : 53 Question Id : 5494703433 Display Question Number : Yes Is Question
Mandatory : No

If the amount allocated by state I to tourism is RS. 855 crores. then the amount in
crores of rupees allocated to agriculture by the same state, i3

orge [ HoejesedE Seroneds Fawy 855 £ drdronwond, ©B Tye SiOFairdd

Strowodd Pawy (B drarond’)

Options :

1375

Question Id : 5494703434 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (54 to 55)



Data analysis Sgrod Dgie
Note:
In a college there are 1350 students. out of them 600 play Cricket. 450 play football, 390 play
Hockey. 225 play both cricket and football. 150 play both football and hockey. 130 play both

Hockey and cricket and 68 play all the 3 games. Based on this information answer questions

Mtoss

arda:

g dyepees” 1350 DTGGRDT) . 06" 600 sofh 34w, 450 2008 Dt &r8, 390 wod 78, 225
2008 8340 Hbak (I &P Toddd, 150 ol P e baw iPE BodBN, 130 Db ipd
20001 £380 D02, 68 008 Pcoth) BT, & VAT BEecore SWED 54, 55 9 0

ae@&")@ogod.

Sub questions

Question Number : 54 Question Id : 5494703435 Display Question Number : Yes Is Question
Mandatory : No

The number of students who play only football is

ankd ered STrday esdl Sjm{j%:rm 70807

Options :

| % 385

, % 310

4 143



Question Number : 55 Question Id : 5494703436 Display Question Number : Yes Is Question
Mandatory : No

The number of students who do not play any one of the given three games is
DN D0 st ) AT eEd Daeydhe doay
Options :

1 % 603

687

347

4 x 1003

Question Id : 5494703437 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (56 to 60)

Coding and decoding problems §dofi, G5 éoh SRV

Note:

Each of the questions from 56 to 60 has different coding pattern. Identify the pattern and answer
questions 56 to 60,

AT

56 -60 205 do p3) 08 w8) V) D DB Ecod DEAWHARHOETD. &5 DA Hod)

56 Avoc. 60 HO%D ;.:_gsle_agj :’ummw@asoci.

Sub questions

Question Number : 56 Question Id : 5494703438 Display Question Number : Yes Is Question
Mandatory : No



If GALAXY is coded as DXIXUYV. then the code for STAR is
GALAXY % DXIXUV = &€& @ STAR £ &&

Options :

o PQXN

|, PQXM

, v PQXO

PQOX

Question Number : 57 Question Id : 5494703439 Display Question Number : Yes Is Question
Mandatory : No

If COMPUTER . is coded as OCPMTURE. then the code for POPULATION is
COMPUTER 2 OCPMTURE rr £€ &% POPULATION & £4

Options :

OPUPALITNO
1.4

OUPPLATION

OPPALUTION

OPPUAILTON



Question Number : 58 Question Id : 5494703440 Display Question Number : Yes Is Question
Mandatory : No

If TABLE is coded as SZAKD. then the code for HOUSEHOLD is
TABLE 0 SZAKD r £& &5 HOUSEHOLD < &

Options:
GNTSEGNKC

1. %

GOUSEGOLC
2. %

GOUSDGENC
3. %

GNTRDGNEKC
4. &

Question Number : 59 Question Id : 5494703441 Display Question Number : Yes Is Question
Mandatory : No

If PLACEMENT is coded as MIXZBIBKQ. then the word that is coded as JLRPB
is
PLACEMENT # MIXZBIBKQ r= £'4 &% JLRPB % £&

Options :

MOULD
1. %

MOUSE
2. ¥

METER
3 %



MONEY

Question Number : 60 Question Id : 5494703442 Display Question Number : Yes Is Question
Mandatory : No

If GATE is coded as 10042308, then the LURE is coded as
GATE 4 10042308 = £& 35 LURE < £&

—

Options :
15212108
-

15241805

15242108
3.9

12182105
4, #

Question Id : 5494703443 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (61 to 65)



Coding and decoding problems Ecofi, 4520l dandgen

Note:

In a certain code. the letters of the English alphabet A.B.C . ..... Z are given numbers 1.2. 3.
... 26 respectively. Then n® letter is coded as ™ letter, where 1 <1 < 26 and I/n=r (mod 26)
(that is 26 divides 1/n—r). For example 9% letter T is coded as 21 letter U. since 99 = 21 (mod

26). For decoding reverse process 18 used. Based on this, answer questions 61 to 65.

Ao

wé A0 5E & 2ol es6ire D wiow AL B, C. . ZO DI, 2,3, .y 2603
RoafR By . 1£r<26 Qobatw 1/n =1 (mod 26) (ea0td 1/n-1 2 26 erhiood) 0N
N OETR) 1 ssorr EE S, &TroRD, 95 85001 2 21 5 wgdo Ut EE Se; Josagofs
99 =21 (mod 26). 63 D" HYB CECOR D oD, I BERCOrP T Py 0 61-65 © &

eaatanﬁ).;‘niioei.

Sub questions

Question Number : 61 Question Id : 5494703444 Display Question Number : Yes Is Question
Mandatory : No

The word ‘B R IN G’ is coded as
BRING & &&

Options :

VQTXY

o x VPTBY

VPUXY
3.¢

4% VQUBY



Question Number : 62 Question Id : 5494703445 Display Question Number : Yes Is Question

Mandatory : No

The word ‘L EM O N’ is coded as
‘LEMON’ Hoxdd E&

Options :

| v BCMIX

BPNIX

3« BPMIX

BECMWIX

Question Number : 63 Question Id : 5494703446 Display Question Number : Yes Is Question
Mandatory : No

The number of letters that are coded as the second letter that comes after any chosen
letter

DB 202 ST STy Do LTS EE dohrcaody wssane Hoay
Options :

1.8 4

[



Question Number : 64 Question Id : 5494703447 Display Question Number : Yes Is Question
Mandatory : No

The string of letters that is coded as M GKP T 1s
"MGEPT &€ Sobed ©9L0 20010

Options :

| » SHARP

, x MACTP
3 x SACTP

MCARP
4.9

Question Number : 65 Question Id : 5494703448 Display Question Number : Yes Is Question
Mandatory : No

The string of letters that is coded as ‘BSNL O’ is,

‘BSNLO m €& Sotied eagd @000

Options :
LAWEFY

1. %

5 LWFTY

; x LAFTY

LWAFY



Question Number : 66 Question Id : 5494703449 Display Question Number : Yes Is Question
Mandatory : No
Date, Time and arrangement problems 348, davodo, @00850 B0

If today 1s Wednesday. then the day of the week after 125 days 1s

& Bep pooorcan sond | 125 Swe adoora DBy T0o e5°2) Haw

Options:
Sunday
1 % e3850°Co
Monday
Faoordo
2 %
Friday
3 % BIS 0700
Tuesday

4. sanofiYeaOo

Question Number : 67 Question Id : 5494703450 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems 346, dioobo, @050 HADH{E0

The year next to 1991 having the same calendar as that of 1991 is

1991 aschared 1991 527066 & DaTrSHorT Sol SPTocd e 0000

Options :

1 % 2003

, % 2001



3 o 2002

2000

Question Number : 68 Question Id : 5494703451 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems 34, divabo, @630 DRI

The acute angle between the hands of a clock when the clock shows 20 minutes past
418

2€ AGairto 4 (o 20 D &) BroddyE TS Awvewe 2] I6YE wery o

Options :

40°

Question Number : 69 Question Id : 5494703452 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems 36, davabo, @050 ddvdfen

At what time between 2 and 3 o’clock will the two hands of a clock be at right

angles to each other?

28 (1G0100e)" 2, 3 fotrw 206 D RVCHOES” TP ANV DERYG0 VOIOTP E0tToN?



Options :

6 .
27— min past 2
11 3

2 jo ETEK}
11
1. #
3
28 —min past 2
11
2 rio L’Biﬂ
11
2. #
2
28 — min past 2
260 28—
11
3. %
ET’i min past 2
s 2
3
260 27T—2
11
4.+

Question Number : 70 Question Id : 5494703453 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems 38, daoobo, 0050 g

Introducing a man. a woman said “he is the only son of my mother’s mother”. Then
the woman related to the man as,

28 ORAD HbBa BHr ‘ar ey Mg, B D B D38 HAreo” ©d wd

2 0 8. BN & Do H D &) 006N

Options :



Aunt

a8 Jor vod, D°ed

1. #

Niece

38 S P a0
2.

Uncle

8 For dod Vet
3. %

Nephew

Fob For Fodd HATCE
4, %

Question Number : 71 Question Id : 5494703454 Display Question Number
Mandatory : No

Date, Time and arrangement problems $46, vdoabo, wnise DD

A student ‘R’ arrived to his class by 9.15 am. and is late to the class by 40 minutes.
but half an hour early to the arrival of another student ‘Q’ to the same class. If the

student ‘Q’ is late to the class by ‘x’ minutes. then x =

28 Do°50 R @09 60 & 9.15 2 m 20 Sy . 98 83 86d £ 40 DD eSO
DI, 29008 f S08S HND e Q €70y g fots Dotk Seryed. gl Q

e3 GRS ' Ddnaren RIRVB[OTT DR WA X =

Options :
40
1. #
110

: Yes Is Question



3.¢¥

10

Question Number : 72 Question Id : 5494703455 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems #4, Hdvabo, #dndse RBR[R0

There are 10 people a1 a2..., aqo sitting around a circle facing the centre at equal
distance ay is opposite to as : @ 1s on the right side of a;. a4 and as are on either
side of aswith as on the left. a3 is opposite to as. ag and as are on either side of ag If

a9 and ap are between a2 and as, then the persons on either side of a7 are

DO D00d DD &) &, do W wE Do LT DA Groes’ Sorrdavaorr

SFENTY . &5 4 JEVAT & ERENT G, & 4 Bk Qi) & &) G, &y, & L0 & & cy
DREr &l TBS° JEDEY & &Y. 8 & IO 8; ST . 8 OO &; &0 &,

€ @t P&y e &) 0. 83 S0BADL 3y 0 &y, 8 © :Jac:iéeﬁf eold. & & A HE)er Gy )

Options:

as _ ds

a3, das
2. ¥ '

4 g

a4 da

Question Number : 73 Question Id : 5494703456 Display Question Number : Yes Is Question



Mandatory : No
Date, Time and arrangement problems 34, davabo, @hose Havdgen

If *+' is denoted by ‘A", ‘—‘is denoted by ‘A", “> 1s denoted by " and ‘+’ is denoted

by ‘w’then, Sw6u2iind=

O INE D, D N E 2, D U E S mbaw 2T W § R ardd

e, SUen2aldnd=

Options :

Question Number : 74 Question Id : 5494703457 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems #6, ddvabo, @050 Hadfen

If i . i are two positive integers. define m @ » as the remainder obtained when
3m +4n is divided by 9. then 7 @ 8=
5

M . N Botdd 65 igngo?e_)m}é@)m, 3m +4n 29 4 erfonte Sy %ﬁvﬂi n B nAardy
[ Lt

&

=

Options :

Lh

2. ¥



Question Number : 75 Question Id : 5494703458 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems 348, daabo, @050 daRRD
If ‘P’ stands for *+'. ‘Q’ stands for *—" and ‘R’ stands for ‘. then the value of
(IOR4)PARAQ6is
Pt & 4. 'Q &~ & Ar obain R’ & %’ & Ar Ardd
(I0R4)P (4R 4)Q 6 dowg) dewa
Options :

. 60
1. %

LN
=

Communication Ability

SectionId : 54947050
Section Number: 2

Mandatory or Optional : Mandatory



Number of Questions : 54
Section Marks : 70

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 76 Question Id : 5494703459 Display Question Number : Yes Is Question
Mandatory : No
Choose the correct meaning of the word given:

Barren
Options:
infertile

1.

9 % rich

Prosperouns
3. #®

plenteous
4. &

Question Number : 77 Question Id : 5494703460 Display Question Number : Yes Is Question
Mandatory : No

-

Choose the correct meaning of the word given:

Diligent

Options :

indigent

5 careful



negligent

4 % indifferent

Question Number : 78 Question Id : 5494703461 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:

Idiosyncrasy

Options :

eccentricity

alacrity
2. %

5« eullibility

probability

Question Number : 79 Question Id : 5494703462 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Virtue
Options :

msted

goodness
2.% F



3 % foolish

poverty

Question Number : 80 Question Id : 5494703463 Display Question Number : Yes Is Question
Mandatory : No
Choose the correct meaning of the word given:
Robust
Options :
Vigorous

1.4

5 % Frail

3 % Insipid

“ Tasteless

Question Number : 81 Question Id : 5494703464 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the correct meaning of the word given:

He madness to escape punishment.

Options:

1% faintad



5 % fained

feigned

eluded

Question Number : 82 Question Id : 5494703465 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:

Pardon
Options :

lavish
1. %

> w final

Unmindful

4 forgive

Question Number : 83 Question Id : 5494703466 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Quit

Options :

prec arionsness



5 % exaltation

3 @ leave

mystery
4. %

Question Number : 84 Question Id : 5494703467 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:

Hideous

Options :

adaptable

5 % flexible

3 ¢ ugly

modular

Question Number : 85 Question Id : 5494703468 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Felicity

Options :



P happiness

> % make

prepare

discharge

Question Number : 86 Question Id : 5494703469 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Slander

Options:

Sultry

1. %

5 % Poultry

Loose

defamation
4. ¥

Question Number : 87 Question Id : 5494703470 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:

Bestow



Options :

1 ¢ Grant

5 % Slant

3 % Flant

4 % Gusto

Question Number : 88 Question Id : 5494703471 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:

Credulous

Options :

1 % incredible
gullible
o

3 % Ccreditable

creditworthy

Question Number : 89 Question Id : 5494703472 Display Question Number : Yes Is Question
Mandatory : No



Choose the correct meaning of the word given:
Truant

Options :

| % tenant

absentes
2.

tyrant
3. %

termagant

Question Number : 90 Question Id : 5494703473 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Fatigue
Options:

1 % Vigou

weariness
2.

energy

likely



Question Number : 91 Question Id : 5494703474 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
This is not a Web Browser.
Options:

Firefox

Opera

Internet Explorer

Yahoo

Question Number : 92 Question Id : 5494703475 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
‘Inventory” refers to
Options :

Inventions of a company

Innovations of a company

Items or products of a company in stock

List of inventions and innovations of a company
4. %



Question Number : 93 Question Id : 5494703476 Display Question Number : Yes Is Question
Mandatory : No
Choose the appropriate answer:
‘Outsource’ in business means
Options :
Being out of source for a business organization

1. %

Deficiency of employees i1 a company
2 ®

Far reachable resources of a company
3 %

Assigning a job to persons outside a company

Question Number : 94 Question Id : 5494703477 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

“Balance Sheet” means

Options :

A report that is balanced from falling down
1. %

A report about company’s assets and liabilities
2 %®

A report about company’s assets. liabilities and shareholders’ equity
3.¢



A report that balance profits and losses
4. %

Question Number : 95 Question Id : 5494703478 Display Question Number : Yes Is Question
Mandatory : No
Choose the appropriate answer:

Devaluation of currency means

Options :

Taking some denomination of the currency out of circulation
1. %

Taking higher denomination of the currency out of circulation completely

Pegging the value of the currency to lower level with reference to other international

3 CUITencies

Changing the nomenclature of the currency
4. %

Question Number : 96 Question Id : 5494703479 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

Start-up
Options:

A young company founded with innovative ideas
1.¢

Founding a company without any idea
2 %®



Company started at call/demand
3. %

Company started up with a little amount of funds

Question Number : 97 Question Id : 5494703480 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
Crowd funding
Options :

A group businessmen coming together to fund a new company

. A crowd coming forward to fund a crumbling company
2.

A crowd funding a sick company

The use of small amounts of capital from a large number of individuals to finance a

new business venture
4, &

Question Number : 98 Question Id : 5494703481 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
Giga byte
Options :

| % A unit of information equal to 1000 bytes



A unit of information equal to 100 kilobytes

A unit of information equal to 10 Tera Bytes
3 %

A unit of information equal to 1000 mega bites
4.

Question Number : 99 Question Id : 5494703482 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
Read-only memory
Options:
Memory whose contents can be accessed but cannot be changed

1.4

Memory which does not allow reading of the contents

2.

Memeory from which one can write out the contents
3.

Temporary 11emory
4. %

Question Number : 100 Question Id : 5494703483 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer':

Spam



Options :

1 % Solicited email

Email sent by friends

Unsolicited email

Unofficial email

Question Number : 101 Question Id : 5494703484 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

Debug
Options :

. Eliminating bugs from the hardware of computer

Disinfect a computer lab
2. %

. Locate and correct errors in a computer code

Locate and correct systemic errors in the hardware

Question Number : 102 Question Id : 5494703485 Display Question Number : Yes Is Question
Mandatory : No



Choose the appropriate answer:

Which of the following is not a video file format?

Options :
1 % -mpd

5 o psd

3 % SNV

4 % .avi

Question Number : 103 Question Id : 5494703486 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
VPN stands for
Options:

Virtual Processing Node
1. %

Virtual Private Network
2.

. Virtual Processing Network

. Virtual Private Node

Question Number : 104 Question Id : 5494703487 Display Question Number : Yes Is Question
Mandatory : No



Choose the appropriate answer:

What is a blank cheque?

Options :

v A cheque that has been signed and all other details are not written

A cheque in which amount and other details are written but not signed

2.

A cheque in which nothing is written
3.

A cheque in which date is written and everything else is kept blank.
4.

Question Number : 105 Question Id : 5494703488 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

The critical incidents appraisal method lays stress on

Options :

1. ¢ work

> % behaviour

production
3. %

4. % management

Question Number : 106 Question Id : 5494703489 Display Question Number : Yes Is Question



Mandatory : No

Choose the appropriate answer:
Change the negative sentence into an affirmative one.

He is not illiterate
Options :

He is literate
1.9

He is not literate

2.

He is illiterate
3 %

He was illiterate
4, %

Question Number : 107 Question Id : 5494703490 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

The prisoner was accused murder

Options :

2. % Y

from

4 % with



Question Number : 108 Question Id : 5494703491 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
The hotel was not expensive
Put a question tag.
Options :
wasn't it?

1. %

-
> % 1sntar

was it?

15 it?

Question Number : 109 Question Id : 5494703492 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
Someone has picked my pocket (change the voice)
Options :

My pocket is picked

My pocket has been picked
2.

My pocket has been picked up



I was picked by someone

Question Number : 110 Question Id : 5494703493 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

The meaning of ‘once and for all” is

Options :
Gradually

> % Slowly

Finally
3.

Full particulars

Question Number : 111 Question Id : 5494703494 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

He said to me. ““You alone can save her” (change into indirect reported)

Options:

He told me that he alone caused save her

He told me to she is saved



He told me that she would be saved
3 %

4 He told me that I alone could save her

Question Number : 112 Question Id : 5494703495 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

Please get me a glass of water (change into interrogative sentence)

Options:

How can you get me a glass of water?

Possible to get a glass of water?
2 %

Will you please, get me a glass of water?
3.¥

How do you get me a glass of water?
4. %

Question Number : 113 Question Id : 5494703496 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
Identify the correct sentences.
Options :

Every one of the clerk has applied for casual leave today



Every one of the clerks have applied for casual leave today
2. %

Every one of the clerks has applied for casual leave today
3.

. Every one of the clerk have applied for casual leave today
4.

Question Number : 114 Question Id : 5494703497 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

The children were the worse for their experience

Options:

1. % never

R 4 none

nothing

4 % 1O

Question Number : 115 Question Id : 5494703498 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:
Neither of the teams sensible enough to compromise.

Options :

1, % are



4 w» Will had

Question Number : 116 Question Id : 5494703499 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:
He was standing her.

Options:

beside

5 % Dbesides

3 % between

at

Question Number : 117 Question Id : 5494703500 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

The extreme cold his health

Options :

_— effected



5 % afectad

3 ¢ affected

4 w cfected

Question Number : 118 Question Id : 5494703501 Display Question Number : Yes Is Question
Mandatory : No
Fill in the blank by choosing the appropriate answer:
Please convey my to your brother
Options:
complements

. compliance

compliments
3 @ OTP

complement

Question Number : 119 Question Id : 5494703502 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
The passive form of the following sentence.
“The mason is building the wall”, is,

Options:



The wall is building by the mason

The wall is being built by the mason
2.«

The mason built the wall

The mason had been building the wall
4, %

Question Number : 120 Question Id : 5494703503 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
Teaching is a child’s play to me.

The underlined portion of the sentence means.

Options:

a mysterious thing

an easy thing

a complicated thing

a confusing thing

Question Number : 121 Question Id : 5494703504 Display Question Number : Yes Is Question
Mandatory : No



. Fill in the blank by choosing the appropriate answer:

I found the of a leopard on the road.

Options:

catalyst
1. %

D «F Carcass

3 % Corpse

catchment

Question Number : 122 Question Id : 5494703505 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

In black and white means

Options:

black and white clothes

5 x television

in writing

3. %

4 % VeI often

Question Number : 123 Question Id : 5494703506 Display Question Number : Yes Is Question



Mandatory : No

. Choose the appropriate answer:

The bill was passed by the parliament in the teeth of opposition.

The correct meaning of the underlined line is

Options :
in the centre
1. ®

5 @ in spite of opposition or difficulty

3 % completely

4 % under the control of

Question Number : 124 Question Id : 5494703507 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
Antonym for calling a spade a spade
Options :

Ploughing

5 % Honest

3 Devious

Gardening tool



Question Number : 125 Question Id : 5494703508 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

begins at liome.

Options :
Food

1. %

Four wheeler

2. %

Parole
3.

Charity
4.+

Question Id : 5494703509 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (126 to 130)



Read the passage below and choose the correct answer 126-130

The state of nafure was antecedent to the instiftution of government. that is. prior to the
establishment of government. The state of nature was not an organized society. Each man living
therein led a life of his own. uncontrolled by any laws of human imposition. Nor was there any
human authority to regulate his relations with others. Men living in the state of nature were subject
only to such regulations as nafure was supposed to prescribe for them. This code of regulations
was given the name of the law of nature, or natural law. All thinkers agreed that those who lived
in the state of nature were ultimately compelled, for one reason or the other. to abandon if and
substitute the state of nature by a civil society or a body politic where each man led a life of union
with his other fellowmen. The law of nature, which regulated the conduct of the individuals who
lived in the state of nature. was replaced by man-made laws.

Thus emerged civil society and it was the result of a mutual consent or confract; man
taking upon himself the duty of observing and obeying all those laws which assured the safety and
protection of all other members of the newly organized community or body politic. These laws
were prescribed by the mutually agreed authority, Human law was. accordingly. substituted for
the natural law and in return for natural rights every man found himself clothed with social rights.
These rights were maintained and guaranteed by the mutually established authority.

Sub questions

Question Number : 126 Question Id : 5494703510 Display Question Number : Yes Is Question
Mandatory : No

A civil society was a surrogate for a state of

Options:

nature
1.¢

anarchy

monarchy

diarchy



Question Number : 127 Question Id : 5494703511 Display Question Number : Yes Is Question
Mandatory : No

. The available interpretations of nature are
Options :

. diametrically opposite
1 %

5 & totally in agreement

totally incoherent

highly unacceptable
4, %

Question Number : 128 Question Id : 5494703512 Display Question Number : Yes Is Question
Mandatory : No

Civil society originated in
Options:
discord

confusion

concord
3.¢

contradiction

Question Number : 129 Question Id : 5494703513 Display Question Number : Yes Is Question



Mandatory : No

Natural law was replaced by
Options :

, savage codes

dictatorial practices
2. %

3 Huwman law

feudal tendencies

Question Number : 130 Question Id : 5494703514 Display Question Number : Yes Is Question
Mandatory : No

Human law endowed people with

Options :

| w Aasense of insecurity

a sense of being dominated

a sense of security

a sense of no compromise

Question Id : 5494703515 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No



Question Numbers : (131 to 135)

Read the passage below and choose the correct answer 131-135

Virtues are. in the popular estimate. rather the exception than the rule. There is the man
and his virtues. Men do what is called a good action, as some piece of courage or charity, much
as they would pay a fine in expiation of daily non-appearance on a parade. Their works are done
as an apology or extenvation of their living in the world - as invalids and the insane pay a high
board. Their virtues are penances. I do not wish to expiate but to live. My life is for itself and not
for a spectacle. I much prefer that it should be of a lower strain, than that it should be genuine and
equal, than that it should be glittering and unsteady. I wish it to be sound and sweet, and not to
need diet and bleeding. I know that for myself it makes no difference whether I do or forbear those
actions which are reckoned excellent. I cannot consent to pay for a privilege where [ have intrinsic
right, Few and mean as my gifts may be, I actually am. and do not need for my assurance or the
assurance of my fellows any secondary testimony.

What I must do 15 all that concerns me, not what people think, This rule. equally arduous
in actual and in intellectual life. may serve for the whole distinction between greatness and
meanness. It is in the world to live after the world’s option; if is easy in solitude to live after our
own; but the great man is he who in the midst of the crowd keeps with perfect sweetness the
independence of solitude.

Sub questions

Question Number : 131 Question Id : 5494703516 Display Question Number : Yes Is Question
Mandatory : No

Commonly speaking. virtues are

Options :

abundant

scanty
2. ¥

3 % popular

4% cheap



Question Number : 132 Question Id : 5494703517 Display Question Number : Yes Is Question
Mandatory : No

Good deeds are performed as a
Options :

duty

5 charity

speculation

business
4. %

Question Number : 133 Question Id : 5494703518 Display Question Number : Yes Is Question
Mandatory : No

“Their virtues are ‘penances’”. What is the meaning of the word ‘penances’?

Options :

solution

atonesment

punishment

4 w fne



Question Number : 134 Question Id : 5494703519 Display Question Number : Yes Is Question
Mandatory : No

The author desires to live his life
Options :

ostentatiously
1. #

superficially
2. %

pompously

sincerely

Question Number : 135 Question Id : 5494703520 Display Question Number : Yes Is Question
Mandatory : No

The author prefers to live for
Options :

others

the nation

fashion

himself
4. &

Question Id : 5494703521 Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No

Question Numbers : (136 to 140)

Read the passage below and choose the correct answer 136-140

Migration has been a ubiquitous phenomenon across the spectrum of the globe since the
existence of mankind on the earth. Social. political. and economic reasons confribute to the cause
of flow of populations from one part of a country to another patt of the country, While
immigrations helped the enrichment of local cultures, they have their adverse effect in the form of
population explosion. cultural imbalances. violence, aggression, and the like. India. from time
immemorial. has been hosting illegal immigrants from Bangladesh. Pakistan. Nepal, and other
countries.

“Servant Maid Services”. is an established servant maid providing company fo the
households and offices in the metropolitan city of Kolkata. It has employee strength of twenty
thousand servant maids on its rolls. Many ghettos infested with poor samitation are usual
landscapes in many parts of Kolkata. The employees of the Servant Maid Services are drawn
mostly from the ghettos and slums. A population survey by the government revealed that majority
of the slum dwellers are illegal immigrants from Bangladesh over a period of years. Electoral
politics played a major role in sanctioning voter identity cards, Aadhaar cards. and work permits
to the women residing in those areas. Huge influx of illegal people has naturally put a pressure on
the meagre natural resources and there have been frictions on economic and communal lines. But.
having voter identity cards and work permits, they are subject to political bargaming: and they
have no difficulty in obfaining local jobs. Since it is cheap labour, neither the “Servant Maid
Services” company nor the local households of Kolkata could afford to miss their services.

Sub questions

Question Number : 136 Question Id : 5494703522 Display Question Number : Yes Is Question
Mandatory : No

Where 1s “Servant Maid Services” located?

Options :
: Cannot be inferred
. In one of the suburban parts of Kolkata

In one of the ghetftos
3. %



In the city of Kolkata
4.

Question Number : 137 Question Id : 5494703523 Display Question Number : Yes Is Question
Mandatory : No

What is a ghetto?

Options :

A den of criminals
1. %

Slum area occupied by minority group

A locality of bootleggers

Walled portion of the old city

Question Number : 138 Question Id : 5494703524 Display Question Number : Yes Is Question
Mandatory : No

What makes the illegal immigrants indispensable?

Options :

Their political power

5 % The fear that they will retaliate if antagonized

The attraction of their cheap labour
3.«



The strength of their bargaining power
4, ®

Question Number : 139 Question Id : 5494703525 Display Question Number : Yes Is Question
Mandatory : No

Who are the illegal immigrant employees of “Servant Maid Services™?

Options :

Poor labourers from other part of the country

People from Nepal. Bangladesh. and Pakistan
2. ®

3 @ People mostly from Bangladesh

Rohingya refuges

Question Number : 140 Question Id : 5494703526 Display Question Number : Yes Is Question
Mandatory : No

What is the reason for illegal immigrations?
Options :

1 % 1l health

. Religious persecution

Cultural differences

Social political and economic factors
4.+



Question Id : 5494703527 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (141 to 145)

Read the passage below and choose the correct answer 141-143

Culture is a forbidding word. I have to use if. knowing of none better fo describe the
various beautiful and inferesting objects which men have made in the past. and handed down to
us. and which some of us are hoping to hand on. Many people despise them. They argue with force
that cultural stuff takes up a great deal of room and time. and had better be scrapped. Cultivated
people are a drop of ink in the ocean. They mix easily and even genially with other drops. for those
exclusive days are over when cultivated people made only cultivated friends, and became tongue-
tied or terror-struck in the presence of anyone whose make-up was different from their own.
Culture. thank goodness. is no longer a social asset, it can no longer be employed either as a barrier
against the mob or as a ladder into aristocracy. All the same, we are a drop in the ocean. Few
people share our enjoyment so far. No one needs to listen to ug who does not want to, We whisper
in the corner of a world which is full of other noises, and louder ones.

Sub questions

Question Number : 141 Question Id : 5494703528 Display Question Number : Yes Is Question
Mandatory : No

The word ‘culture’

Options :

belittles

instigates
2. % =

circumscribes

4 % discourages



Question Number : 142 Question Id : 5494703529 Display Question Number : Yes Is Question
Mandatory : No

Cultivated people are now

Options :

i 4 7.
| w Aamajority

a minority

ubiquitous

degenerated
4. %

Question Number : 143 Question Id : 5494703530 Display Question Number : Yes Is Question
Mandatory : No

Aristocracy means
Options :

1.« nobility

working force

3 % boorish

fascinating

Question Number : 144 Question Id : 5494703531 Display Question Number : Yes Is Question



Mandatory : No

Culture as an inheritance of the past is

Options :

“ admired

loved

3 @ hated

glorified
u -

Question Number : 145 Question Id : 5494703532 Display Question Number : Yes Is Question
Mandatory : No

Cultivated people are good
Options:

1 % Dboxers

businessimen
mixers

3. %

walkers

Mathematical Ability

Section Id : 54947051



Section Number : 3

Mandatory or Optional : Mandatory
Number of Questions : 55
Section Marks : 55

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 146 Question Id : 5494703533 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability e90Sricd s &nmgéa

Options :
1. % i
2. % ¥
3 10
a.% 7

Question Number : 147 Question Id : 5494703534 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability e9ogricde ﬂvmgéej

1 1
(533-'*' +(53‘J-‘~' =134 . thenx=

Options:



Ln

Question Number : 148 Question Id : 5494703535 Display Question Number : Yes Is Question

Mandatory : No

Arithmetical Ability 0o Sieded avmgsa

A B=5§5:3and B: C=T7:8.then A:B:C=
A'B=5:38can B:C=T7T:8 monad A:B:C=

Options :
1% 1:3:4

L]
A
| B
—t
[
e

2. %
25:33:45
3. %
35:40: 66
4. %

Question Number : 149 Question Id : 5494703536 Display Question Number : Yes Is Question

Mandatory : No



Arithmetical Ability e908ricich Svmgéej

A container contains 50 litres of milk from which 5 litres was taken out and was
replaced by 5 litres of water. This process was repeated further two times. Then the
ratio of milk and water in the container 1s

€ Fese® 50 Dorg Fen aamom. & Fa Aol 5 Do 8, 2D 5 Dig HBE b
' ] DL = ) ] -

ST, & DAY D Sotd TP WITHBo B, Y FES'D e Dba I

Lo
Options :
71:29
1. %
5 % 81:19
639 : 181
3. %
720 ¢ 27
4.+ AR

Question Number : 150 Question Id : 5494703537 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability e90gricd s ﬂvmgﬁﬂ

The rationalising factor 54'125 - i@ 1%

s S

V125 - V9 24 esgodaioe 35 fomso
Options :
1. % 8

| g

2. &



Ly

3. %

Question Number : 151 Question Id : 5494703538 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability evogricdsd avmgéa

"r...'lI xl"'E =+ \."IE +6=

Options :

Question Number : 152 Question Id : 5494703539 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability ©08Aad aumgsa

If the 4 digited even number “X54Y" is divisible by 11. then the number of possible
ordered pairs (X.Y) is

X54Y' w033 Trenxy es0Be) b rowyf 11 @ arhioD AGH, BN f';wcﬁ:aé a0 ol en

(X,Y) & foay
Options :
1.% 2

3
2. %
3% |
4.4 3

Question Number : 153 Question Id : 5494703540 Display Question Number : Yes Is Question

Mandatory : No

Arithmetical Ability o :}amgéa

What is the smallest 4 digit number which when decreased by the largest 2 digit

number, is exactly divisible by 15, 20. 25 ?

ﬁ@@ 2 ea05e “paoajltl AL @Qoé}a;@baa 15, 20, 25 & 3 erfonii gi)a:j; 4 eapBe) Rmm}g
26 7
Options :

1% 1099

5w 1599



1299

1199

Question Number : 154 Question Id : 5494703541 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability 0S8R &mgﬁé

In six clocks alarms commence tolling together and ring at intervals of 3.6.9. 12

. 15 and 18 seconds in each clock respectively. In one hour of duration how many
times do they ring together?

6 fidoirssued’ werdow 02 Fido auden DY 29 fdairdo & sdwm 3, 6, 9,
12,15 20Boto 18 2eog; 08000 ¢ APHEOT) 0. &€ ot DD’ IY FH

e1d) a‘nb& &b Qorreron ?

Options:
1. % .

18
2 ®

20
3 %

A
4. i

Question Number : 155 Question Id : 5494703542 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability e908icdes avmgﬁa

The maximum number of students among whom 1001 pens and 910 note books can
be distributed in such a way that each student gets the same number of pens and the

same mumber of notebooks is

28 Doid 228 Doy &° DO v oo wE Howy & e Yot Fod Do 100

DD 0 MBI 910 F5 YO Dod DYIDE Derjdoe (8 Doy

Options :

1. % N

, % 100

o1

101

Question Number : 156 Question Id : 5494703543 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability eogricde S'nsﬁ::gﬁs:h

1.27+0.04+(2713 =

Options:
1 % tq
3.46



Question Number : 157 Question Id : 5494703544 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability e90Sricded Sﬁmgﬁeﬁ

If 1’ and ‘y” are two rational numbers such that v <—1 and . y > 1. then which one

of the following is true
X<=100c0 ¥ > 1 wdby ogor X domo Yt wedeah wony 8, iy &
S0t S’ D6 Dedgn ?

Options :

Question Number : 158 Question Id : 5494703545 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability ev0Sricdsh Svmg&aj

il 2
It Azl.B=i.«lﬁ'ziand[}:i . then
7 11 13 5
2 3 4 1
A=—, B=—,C =— 00600 D = —escned, esgyyeo
T 11 13 S A+
Options :
| % A<B<D<(C
Dq::B*::;":’L"fC
2.
C<A<D<B
3. %
, x B<ASD<C

Question Number : 159 Question Id : 5494703546 Display Question Number : Yes Is Question

Mandatory : No

Arithmetical Ability wosncid a«:mgﬁa

IfP=y3-1. Q=45-1. R =490 —7 and S=+7—+/5. then
PZ\E—I. sz}./ﬁ:.—l. R=\/§—ﬁ.{mﬁho&m 5=~.E—xf§ 20008 95y

Options :

1 R<S5<0Q<P

P{:Q{:R-::Z:S



Question Number : 160 Question Id : 5494703547 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability 08 avmgﬁa

‘A’ drank —th of the water in a bottle and ‘B’ drank 20% of the remaining. If ‘B
2
drank 3 litres of the water, then the amount of water originally in the bottle is

: 3 i
at HI'D DB =3 orrdy A e dubain MHADD e’ 20% o B eriidreo.
5 =

B aure Dogn eehd, o Hdrs® 200w &3y A
=5

Options :
37.5 litres
37.5 Bexw
1.4
75 litres
75 Dergo
2 %®
100 litres
100 Bescis
3. % °
45 litres
ix B Derdd

Question Number : 161 Question Id : 5494703548 Display Question Number : Yes Is Question



Mandatory : No

Arithmetical Ability o 3"55-’25*3

A person incurs 5% loss by selling a watch for Rs. 1140/-. At what price should the

watch be sold to earn 5% profit?

g BROITEANA @ 1140 & vy come(D® w8 518 5% Sio & Foerc. 5% ero

H0arHonmde e AAGCIPEaLE) J G DG VI DTD ?

Options :

4
1% Rs 1206

5 % Rs 1620

"
3 ¥ Rs 1260

4 % Rs 1200

Question Number : 162 Question Id : 5494703549 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability e90S(iEaed -ih;ﬁ.}gsaj

Instead of increasing the salary of an employee twice successively by 10%, the
employer has given a one-time 20% hike. The percentage of loss or gain for the
employee is

28 &B1H dhug), 800 Bo Fg F 0B 10% Fi)yd DodredS pcheur, we
ahHaard woadd 8 Fb 20% Sdo Domrdy. &&»ﬁiﬁé £ ero g Sgpo TN,

T

Options :



0.9% gain
0

1% 0.9% ergio
1% gain
0

5 % 1% eraio
1%% loss
1% 3350

3. 3
(.9% loss
0.9% S0

4, % 8

Question Number : 163 Question Id : 5494703550 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wosricdd Svmgﬁe:b

A person sells an article at a profit of 10%. If he had bought it at 10% less and sold
it for Rs. 3 more, he would have gained 25%. Then the cost price of that article (in
Rs.)1s

28 9f8 w6 D 107 erards wiw)ord. wdc) ordd 107 ey s £ ar 3
D, D D)o, Bty 25% erdind ToBor. By ¥ S gy Do (o7 |
e &5t )

Options:

111

112



Question Number : 164 Question Id : 5494703551 Display Question Number
Mandatory : No

Arithmetical Ability eoSriesdd avmgﬁa

‘P’ and ‘Q’ are the only partners in a business. ‘P’ invests o of the capital for 15

)
months and ‘Q’ receives éof the total profit. For how many months Qs capital

was in the business

; 1
P 2080 Qe ArgRy wd Pjrded” e anen, Dinedes” 3 Sodo Ho 15 Do

s
e P by 503 2o ergo & — otk ‘Q’ Torrew. & e Q dined
5] : = 3 )

7Y Do) &obd 7

Options :
10
1.4
8
2. %
3. % -
12

: Yes Is Question



Question Number : 165 Question Id : 5494703552 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability eosred a»mgéa

Two partners ‘A’ and ‘B’ invest Rs. 1.25 lakhs and Rs. 0.75 lakhs respectively in a
business. They agree to share 60% of the annual profit equally and the remaining
40% of the profit as interest for their capital. If ‘A’ gets Rs. 300 more than ‘B’. then
the total annual profit (in thousands) is

R0 grarqanen A, B ew g ojaroos” sdam ar 1.25 vges boy 6@ 0.75
egen b%}_‘:m& DEF. room&mo@ ergioes 60% &0 o HarSdorray, oAb erdio &
40% o8 DEBGS HATP DoEEDd iy . B g0l Adr 300 d Fobrd,

96 0o DodeToe erate (D’ )

Options:

Question Number : 166 Question Id : 5494703553 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability eogitded &amgﬁa

A pipe ‘A’ can fill an empty tank in 5 hours. But due to small hole at the bottom of
the tank, the pipe took 8 hours to fill the tank. Then the time required for the full

tank of water to drain through that tiny hole . in hours is

A b Fio a8 ard 95 5 Gotyees® DoHrierdy. wand o e &y w8 DIy
Go@aw S0, & G0 DoDdErS & Q0 8 fotien SRVLI0E. 9 & :“Z}é;l Gotdaan

Aood Hrhre MBS Dodd &9 9 SrAEEDA Sdd Fodn foteses”
Options :

lf:rl hours
1.% -

e
12= hours
3

2. ®
3
12— hours
4
3. %
1
ljzlmurs
4.

Question Number : 167 Question Id : 5494703554 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability ©08nad .-:hmgéa

A tank is filled in 5 hrs by three pipes together A’. ‘B’ and “C’. If the pipe ‘C’ is
twice as fast as ‘B’ and ‘B’ is twice as fast as ‘A", then the time that pipe ‘A’ alone
take to fill the tank (in hours) 13

A.B w80 C o Figam oo 80 e G 5 robwd” deiparon. Fggan B ol
fFeaw € 0doxy abosw Fean C ot Foaw D ofewp Sriaw ¢DAIS, @iy

Fego A 288 & §820 DomdE D Toaw (o D © e5°)

Options :

35
1.4

Question Number : 168 Question Id : 5494703555 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability osricdd avmgéa

Walking at 10 KMPH speed. a person fravels a distance of ‘d’ kilometres. If he
increases his speed by 4 KMPH, he would have travelled 20 kilometres more in the
same time. then 'd’ is (in km.)

fota 10 & Do Brfo & IADDYy w8 D58 ‘d' & M Pormo B, wBd Iredy
lotdgy 4 £ 20 o, 08 Haoabees” e 20 3 2 JE.H Hodremo BoABHS, By

A ena (2 ee®)

Options :



1. %

5 % 70
3 % 86
4 50

Question Number : 169 Question Id : 5494703556 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wogricded Sﬂmgsrj

A man takes 5 hours and 435 minutes for a round trip. by walk in onwards journey
and by a car in refurn journey. He would have gained 2 hours if he travels by car
both ways. The time he would taken by walking both ways is

Dy pairso Hag &, Sdm Hoirme S &' €0 w8 arg rd SoHeds
28 D58 5 otw 45 DAVDHNL) BRVDEFE. Do) POIFHAVLAT SHE"S Hoired,
2O 2 foten Ly D sodwd’ P Sabndiar. Toc poiTrHALLAR A B

&ofd, mad) SR Tres)

Options :

3 hrs 45 mits

1% 3045 D |ew
7 hrs 30 mits
7 50 30 D |ew
2. %

11 hrs 45 mts

11 o 45 2 |en
3. %



7 hrs 45 mts

4 7 o 45 D |ew

Question Number : 170 Question Id : 5494703557 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability ogncdd avmgﬁa

‘A’ and ‘B’ can complete a work in 15 days and 10 days respectively. They started
the work together but after two days ‘B’ had to leave that work. The number of days

‘A’ alone complete the remaining woik i3

A 20801 B 28 52D SR 15 bain 10 Fere® rd Sabron. oo agom B
DA 206 DE Tod Beren 823 odors B 52 569 DYV :Jf.'}&o&}. 20093 2D

A 2€) & 2yr8 Sohreds 00 Feve Doy

Options :

15
1. %

10
2. ¢

Question Number : 171 Question Id : 5494703558 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability 908 &mgsé

Working independently 3 boys or 3 women or 1 man can do a piece of work in 44
days. Working together. the time needed (in days) to complete the same piece of

work for 1 man, | woman and 1 boy i

DEDET HBY 200 erentd For QM oo For we PAPE w8 HAD 44 Fwod”
oD, wé (AN, w8 & S0Bakn et erench €D D Bhdne, & DD L7h

SahedS eattddh; Sea (Bazer 5°)

Options :

20

Question Number : 172 Question Id : 5494703559 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability 903 avmgsa

The lengths of the diagonals of a thombus are 60 cm and 25 cm. Then the area of

the thombus. in square centimetres, is

28 Paveor Bahysan olng), dddane Fpen 60 Do [ wbaw 25 Do |,

RYED &8 RIRoR BRAE DTN ¢ [2o |80 & &

Options :

| w1500



e |
R |
o

1200

600

Question Number : 173 Question Id : 5494703560 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability 29083 avmgﬁa

The area (in sq.cm) of an equilateral triangle whose side 15 4 cm 18

4 20 |20 ghadnme AR w Ty Hzbeaan dng) T (o [Ho |5 & e5%)

Options :

83

Question Number : 174 Question Id : 5494703561 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability e9ogricdeh avmgse:b

If the volume of circular cylinder and a cone of same height are equal. then the ratio

of their base radii. in that order. 1s

8 2900 SDAD wE 20 %ﬁbm 200050 wE Foaw.d) ah0g), D0A0BATRAND

RAPSZLA, N E) T TIg), ArIPEaY iy, o saoe

Options :

Question Number : 175 Question Id : 5494703562 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability e90&ricdss svmgﬁa

If the total surface area of a cuboid whose sides are in the ratio 1 : 2 : 3 is 1078

square units, then ifs volume in cubic unifs is

1:72:83 R’)%Q e5° Zhaanen s ChHRS g cﬁg TOHS St E}o;@‘*g B0 PTOLAD 1078

S0 0D wod, By TP 0 HArRAD (D ahrdd’)

Options :

1998
1. %



2058

2068

Question Number : 176 Question Id

Mandatory : No

Arithmetical Ability 908Me3d FoA0g, S

: 5494703563 Display Question Number : Yes Is Question

=)

The area of a trapezivm with 8 cm and 10 cm as lengths of the parallel sides 15

144 cm’. Then the distance between the parallel sides (in centimetres) is

Pharestd Fmave SFEaen 8 Do [ bato 10 Dol m (dRd Ddaneow

ddodnaan prean 144 20|80, PR Do FHBaN ] GrEa

(30|80 & e5° )
Options :

32
1. %

Question Number : 177 Question Id

: 5494703564 Display Question Number : Yes Is Question



Mandatory : No

Arithmetical Ability wosrdd avmgﬁa

In AABC. ‘D, ‘E’ and ‘F’ are the midpoints of sides BC, CA. AB respectively.

Then the area of quadrilateral BDEF formed is

AABC & gbasawen BC, CA 2vboin AB o dlwg), gy Dompen s D. E
2odatn F. ey d0y& BDEF wednye peegan
Options :
lzd
= of area of AABC

AABC pwree &° 3 & Do

1. %
Half of the area of AABC
AABC pwojo &5° difo
2.
1 th
E of area of AABC
AABC pwejo &5° 4 o Do
3. %
11:11
; of area of AABC
AABC pwego &5° 5 & oo
4, %

Question Number : 178 Question Id : 5494703565 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability osricds aﬂmgﬁﬁ

If the area of the sector cut from a circle of radius 12 units is 60 square units. then

the angle of the sector (in degrees) 15

12 crden ajFdo (o wé Dydo ol §8B0NN we Y0 PTRRe 60 ofardgn

2008, NN &8 DYD 'm0 (&0 wes® )

Options :
5
6
1. %
135
i
2. %
105
i
3. %
150
s
4.+

Question Number : 179 Question Id : 5494703566 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability evogricde &m%d
y<=x <yl implies
V<X <Y ardodd

Options:

1. %



K <y.vy<0
2. ¥

K =¥.x<0
3. %

b <[yl x>0
4. #

Question Number : 180 Question Id : 5494703567 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability ev0Sricdc &amgﬁa

If 37 is divided by 7. then the remainder is

37 D7 3 erfodd, einy6o HyBnmw

Options :
1. % T
2.4 3
3. % 3
4. % 2

Question Number : 181 Question Id : 5494703568 Display Question Number : Yes Is Question
Mandatory : No



Algebraic and Geometrical Ability Ddabh Bo8an wémémanmgaa

The contrapositive of statement “if two triangles are congruent then they are
similar™ 1s
Dol Ggiadn e WO PArHR0ES, BN e93) ACFDa0eD” 99 pavdo {ﬁmé;&

DAHBBAD

Options :

If two triangles are similar then they are congruent

Totty Babadunen DEFHROB 9)HED 9D T BATDD00
1. %

If two triangles are not congruent then they are not similar

Doty Gebaanen DG DaTd ST, BNy 8D BATFDo T

If two triangles are not similar then they are not congruent

Boco Savadnen DETrhe SPES, W) @ e HOY HaATdo
3.¢

If two triangles are similar then they are not congruent

Doty fesainen DOFHI0E RIINED €98) RO IRV 57

Question Number : 182 Question Id : 5494703569 Display Question Number : Yes Is Question
Mandatory : No



Algebraic and Geometrical Ability D&odh 208050 &5mémﬁﬂvmgﬁé
Iff: R—R is defined by fix) = 2x + [x| then fl2x)—fx) + =) is equal to

[:R->R b fly) = 2x + [t Dogdy, oy f20)-Ax) + )=

Options:
2X
1. %
—2x|
2. % |
2]
3.¢
—2x
4, %

Question Number : 183 Question Id : 5494703570 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability D&o® 208050 a‘;baé{mﬁvmg‘svj

The equation of the line having slope more than 1 and with the intercepts @, b on
the X and Y axes respectively such thata ~b=2.ab=-3 15
e 1 gofd Jey are £dA b X, Y esanep amarr a, b eosdaocanen

a+b=2, ab=-3 edy deor (DA 6V B Sontsmo

Options :

x—Jy—=3=0
1. % |



Ix—-2v—-6=0
Ix—y+3=0

2x +10y —5=0

=)

Question Number : 184 Question Id : 5494703571 Display Question Number : Yes Is Question
Algebraic and Geometrical Ability D&od 805w eﬁ'ztlbaihrmbﬂmd &

Mandatory : No

sinl120° cos150° —cos 2407 sin 330° =

Options :
1. % 1
-1
2. ¥
3. % 3
o]
L 4 ]
4, % =

Question Number : 185 Question Id : 5494703572 Display Question Number : Yes Is Question

Mandatory : No



Algebraic and Geometrical Ability D&a% 2805 a‘smémﬁnmgﬁé

. 3 3 2
If the polynomials ax’+5x’-x-4 and 2x'+3x'+x+a leave the same

remainder when divided by x + 1. thena =

a5t —x—4 abodn 22X 13k s xtanunden ¥ T 1 8 aPRoL) DN a8

FOo0a B, N d =
Options :

v 1

Question Number : 186 Question Id : 5494703573 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability Dfad 208050 a‘@oéuﬁ&nmé o

3
6 1 24 6
If —+——=1and +——=>5then xy=
I+y x-¥ X+y x-—%
0 1 24 6 )
+ =8 Evilalenit + =5 wond , e AV =
X+y x-v X4y K-y ~
Options :
35

1.4



2. %
s 30
,x 28

Question Number : 187 Question Id : 5494703574 Display Question Number : Yes Is Question

Mandatory : No

Algebraic and Geometrical Ability Ddah S080dn a‘&&:éomﬂumgﬁé

-

:
-

If the 4% and 8% terms of a geometric progression are § and —— respectively. then

625

Common rafio 1’ =

128
wg m 36 dng. 4 5 20Boiw 8 &5 DEAE HHBIP § BT —— oS, B
- 625 a

Feroe DG, 1=

Options :
A
| % 25
4
5 % 25
2
3. 0
4
5

4. %



Question Number : 188 Question Id : 5494703575 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability D&ohH 2083w a‘&.‘.’béoﬁ.‘xﬂnm%a

T -

Sum of the first 8 terms of the sequence 12.3%2,5%, 77..... Is

-

oRgan 17,37, 52, 70 ... dog), 2068 8 DEa0e dgan

Options :
969

Question Number : 189 Question Id : 5494703576 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability Do S08ai0 &5mﬁuﬁ&=mg§ﬁ

A 0 —11
If 4 =; . and B =; then (B7A7) ! =

-3 2 1 0|

- =1 FJ =4 . a1 A-1y-1
A= Sobadn B= e e3¢ (BTAT) T =
B | |_1 O | ot

Options :



i B
1.9
3 -2
3 3]
2. % =
B
10| -2 3|
3, %
1[3 2]
10]=2 2|
4, % - -

Question Number : 190 Question Id : 5494703577 Display Question Number : Yes Is Question

Mandatory : No

Algebraic and Geometrical Ability 2&ah 28050 a‘s&:&nﬁ:&umgﬁd

The midpoint of a line segment is (-4 . -2). If (-6 . 4) 1s the point at one end of that

line segment, then the square of the length of that line segment is

28 Garaotiay ooy, Bodg Doy (—4 . -2). & Barwodan clog) ws e Dothreh)

(=6, 4) o0, eyt &8 Baraotio TFeap dg), S

Options :
160
1.4
240



. 80

40

Question Number : 191 Question Id : 5494703578 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability boaggg Sumgaa

A fair die is rolled 60 times and the frequency distribution of the digits appeared on
its face 1s given below

Digifs 1 2 3 + 5 6

Frequency | 8 9 |10 |16 | 9 8

The mean of this data is

ad dpEe IO A 60 FH Sfemd by D Avwavp DAD @S

Drdpmian A ot BEPND

05 1 | 2| 3|4 |5]|6

T | g | o | 10] 16| 9| 8

& GTFoTaL CEDJQEJ, 908 m@émm

Options:



3.45

Question Number : 192 Question Id : 5494703579 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability Ebn::-ag.:-as Snmgﬁa

The median of the numbers 1.2 .22, ......2% when n = 2021 is
H=2021 esoxndn~60 Rogfen 1.2.22, ....2¢1 O3wE), SEito
Options :
22919
1. %
jllC'JD
2. %
~1010
3.¢

(2021) (2022

Question Number : 193 Question Id : 5494703580 Display Question Number : Yes Is Question
Mandatory : No



For a given data, if the arithmetic mean is 39 and median is 37.5. then its mode is

g raﬁ}aa G0 FAL) @oém@&mm 39 Jobaiw VALY 37.5 esgéd, R

TP ETFLTPOVESAD

Options :

1 % 33

, % 385

3¢ 345

30.5

Question Number : 194 Question Id : 5494703581 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability 3»-::3;}55 %ﬂ;ﬁagﬁé

The variance of the first # odd natural numbers is

o

D00 A 83D e 208 DRy

Options:
n -1

| % 12
e

2 6

3.v



Question Number : 195 Question Id : 5494703582 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability .E‘Jboa:?gs ihmglsé

The standard deviationof 168 . 170.172.174.176. 178 . corrected to two decimal

places 15

168,170, 172,174 . 176 , 178 & cIng), S D00, Do) GF07 @ﬂaﬂmgj 2:303
Options :

12.34

11.67

312

3.42

Question Number : 196 Question Id : 5494703583 Display Question Number : Yes Is Question
Mandatory : No



Statistical Ability 3»03355 éﬂmgﬁé

If the correlation coefficient of the 4 pairs of observations (x1, v1). (x2, 12). (x3

WS : :
,¥3).(xs, yy)ofadatais — then Y (x =) =
V3). (4, 1) ; 21( R

w8 TPt dhug), Teu weew HiJoden (11, ¥1) . (32, 12) . (13, 13), (14, 34) g

1 ! )
AT om0t Hedo E?ﬂm}ﬁ. o Y (5-1) =
=l

Options :

2. ¥

3. %

Question Number : 197 Question Id : 5494703584 Display Question Number : Yes Is Question

Mandatory : No

Statistical Ability bomas évmg’sa

If two cards are drawn at random from a pack of 52 cards simultaneously. then the

probability of getting one club and one spade card is

52 DS A€ O R e SRA0C Tt DE ALV AP EOT 28 FB Y YD
28 S &mé& a080dn s LIS .;imgb oriied “‘ﬁ:anem;nt(]@

Options :



1
2. % 13
13
, x 221
13
4o 102

Question Number : 198 Question Id : 5494703585 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability 3»03;55 anmgﬁa

Two dice are rolled simultaneously. Then the probability of getting an even number

on one die and a prime number on another die is

B0 P 8 F6 Shomrd, )y T8’ we AL P 1O Doay bk Dotksd

FOE D w8 PED Do Tod Ddogrge

Options :

1
3
1. %

|



o | e

3. %

Question Number : 199 Question Id : 5494703586 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability -5"03@3,55 ﬂvmgérj

If 3 fair dice are rolled. then the probability that the sum of the numbers appearing

on them ig greater than 15 13

3 Darydd rddody BBeddin, Tp HE Homge Avdan 15 goff Iyl

fﬁoamaée:&
Options:
17
216
1. %
> % 108
11
216
3. %

4 10



Question Number : 200 Question Id : 5494703587 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability 3903555 anmgae:a

If a 4 digit number is formed at random. without repefition using the digits 0. 1. 2.

4, 5 then the probability that the number thus formed is not divisible by 3 is

0.1, 2. 4, 5 esoZ020 snatrayy o S o:iﬁ.r:)ﬁ&ﬁarw GO0 fow) wS 4 080 doady

0 Bairdosiny, € G0 S0l #Joajé 3 3 rhonecEiFah "n}o;aav;)tcjs-:@

Options :
.}
1. % i
2
4
2. ¢
1
3. % 2
4
)



